- 6 A1mA8
B a, b, clIFM

Zliilz3 3 5%,

2<a<b<cZ6

(1) TFEXa+b>cZWi7zTE57% (a, b, ¢) ZFTRTHEIT X,

(2) AER a?+0? = 2T L% (a, b, ¢) BTRTET X

(3) (2) TEK®D% (a, b, ) IZ2WT, HHKA, B, CeMPWEIHOEINZNZN a, b, c THZBND
AABC%2E 2%, ZOX5RTRNTD AABCIZDOWT cos ZACB 3K X,

/725 JeimER CCR) #i 2

J

N
A (3) (a, b, ¢) = (3, 4, 5) DHBA, AABC 134 AB
(1) ERBL Y T2 EA=AE, OF D LACB =90° ZDT

2<a<b<cs6

278 a, DITHT D a+ b DIEIZREKDED,

Nl s | 4| s
2 |5 |6 | 7
3 7| 8
4 9

L7 oT, (x) eARER a+b>c 2L b8
Ba, b, c O (a, b, c) &
(2, 37 4)7 (27 47 5)7 (27 5’ 6)’ (3, 47 5)7
(3, 4, 6), (3, 5, 6), (4, 5, 6)

(2)  Z&fF (%) ZWile T8 a, bITHT 3 a? + 0% DfE
FRFEDMHD

a bl 3 4 5
2 | 13 | 20 | 29
3 25 | 34
4 41
X5
42 =16, 52 =25, 62 =36

CHET Y, (+) ERER o2 402 2 @ B L b
758 a, b, c DM (a, b, ¢) IF

(3, 4, 5), (4, 5, 6)

cos ZACB = c0s90° = 0

(a, b, ¢) = (4, 5, 6) DIEGE, RLEHED

4% + 5% — 62
2-4-5

cos ZACB =

— 23 —



